1 | 2 | 3 | 4 | 7 | 8
2
o
©
BELT DIRECTION
=)
2 EE
o ~ €
3 e3
. (1)) 8o
£ >
4 -DRILL @14 THRU gE @ %g
2200 - 2400 BELT WIDTH 3 =
v =<
A =3 . rer) 52
=] A 1
fffffff : HIE i Al e
=z 2 H= ==,
1S3 P \ B
L\
SIDE ASSEMBLY
DETAIL A ALTERNATE MOUNT POSITION
K @ @ 3 @ @ @ @
|
- 6 REF M10 NUT M10 NUT, A2-70 S/S 12
5 REF | M12 WASHER |FLAT WASHER, M12 - STAINLESS 12
4 REF [M10 x 50 BOLT[BOLT, HEX HEAD, M10 X 50 A2-70 S/S 12
3 232205 DIAGONAL PLOUGH BLADE 2200-2400 BW 1
2 232210 SIDE ASSEMBLY, COMPLETE 2
1 231216 MAIN FRAME - 2200-2400 mm BELT WIDTH 1
ITEM ITEM CODE DESCRIPTION QTY
MATERIAL
© 2016 BELLE BANNE CONVEYOR PRODUCTS GENERAL NOTES PLATE INDICATOR MATERIAL CODE A2 BELLE BANNE CONVEYOR PRODUCTS
ALL RIGHTS RESERVED | WELDING SYMBOLS STANDARD ESTIMATED WEIGHT WEIGHT UNITS
THIS DOCUMENT (DRAWING) AND THE DATA | 7O ISO 2553 METHOD A. SIMILAR TO MACHINE MODEL] DESCRIPTION
SHOWN THEREON IS THE PROPERTY AND ;
CONFIDENTIAL INFORMATION OF BELLE 2 REMOVE ALL BURRS AND SHARP T zt.:j:z DIAGONAL PLOUGH Assembly conveyor products
BANNE CONVEYOR PRODUCTS. DONOTUSEf P8 —_— ——— www.bbcp.com.au
COPY OR REPRODUCE IN ANY MANNER OR | 3: B e
FOR ANY PURPOSE WHATSOEVER, WITHOUT | UNLESS OTHERWISE STATED. CHANGE NO. VERSION 0 2200 - 2400 mm BELT WIDTH e-mail _info@bbcp.com.au
THE PRIOR WRITTEN CONSENT OF 4. THIRD ANGLE @ = DRAWING USE SCALE 1:10. 15 | ITEM. 231205
BELLE BANNE CONVEYOR PRODUCTS. PROJECTION REV| DESCRIPTION BY DATE CAD SYSTEM INVENTOR | SHEET 1 OF 1 CODE.
1 | 2 | 3 | 4 | 4 | 8 | 9 | 10 | (K | 12




